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KGH106=PGH106+DYG106
OPDN106=KGH106-IPDG106+PC106 -DYG106
IPDG106=(KGH106*55%) +PC106

P106

KGB106=NGH106 44 & 51*P 6
QGH106=KGB106-NT106
KGHA106=QGH106+DYG106
OPDGA106=KGHA106-IPDGA106+PC106-DYG106
IPDGA106=(KGHA106*55%) +PC106
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DYG106=DYG105*(1+DYN;qq)
SG106=HCV106+FG106+0TG106+QRG106+ERG106+DRGS106+HS106+LA1
HCV106 ( 4:4E7EE2655 7T )

FG106 ( &4-TEE12,452.5HE T )

OTG106 ( 4ETHEA4215.7TEETT)

QRG106 (FEFHHEITSHHTT)

ERG106 (4 4FTHE160.05 E7T)
DRGs106(4:FFHE300H & T)
HS106(& 4 THE60H &7T)
LAL106(2:F-THEB00H & L)
G106=KGB106+DYG106+SG106+Q106+Q105
G106/G105-1

107,861,808,530
43,284,191,996
59,323,994,692
0.25748523
104,479,177,476
104,231,177,476
109,484,799,318
44,014,537,850
60,216,639,626

0.02975
5,253,621,842
5,410,175,000

663,750,000

3,113,125,000

1,053,925,000
249,375,000
40,000,000
75,000,000
15,000,000
200,000,000
115,335,057,841
6.80%




